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import sys

sys.path

.append("statlib")

from xtest import Bartlett_test

Bartlett_test(x, g=None, verbose=True)
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import sys

sys.path.append("statlib")

from xtest import var_test2

Bartlett_test2(n, u, verbose=True)
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import sys
sys.path.append("statlib")
from xtest import Bartlett_test

a = Bartlett_test([3, 2, 4, 2, 3, 5, 4, 3, 3, 1, 3, 4, 5, 4, 5],

(1, 1, 2, 1, 3, 3,1, 3,1, 2, 2, 2, 1, 2, 2])

Bartlett test of homogeneity of variances
chisq = 0.14777, df = 2, p value = 0.92878
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b = Bartlett_test([3, 2, 4, 2, 3, 5, 4, 3, 3, 1, 3, 4, 5, 4, 5],
[llall’ lla"’ 'lb'l’ lla", "C", "C"’ lla , C , a ,
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Bartlett test of homogeneity of variances
chisq = 0.14777, df = 2, p value = 0.92878
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c = Bartlett_test([[3, 2, 2, 4, 3, 5],
[4, 1, 3, 4, 4, 5],
[3, 5, 31D

Bartlett test of homogeneity of variances
chisq = 0.14777, df = 2, p value = 0.92878

4 BEfF®D Python B#{ & DLLEL scipy.stats.bartlett()
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from scipy.stats import bartlett
bartlett([3, 2, 2, 4, 3, 5],

(4, 1, 3, 4, 4, 5],

[3, 5, 31D

BartlettResult(statistic=0.14776807472712877, pvalue=0.9287793913036083)




